
00 : 20

Hewitt Chest
Commode Hewitt 
Assembly Instructions / Instructions     d’assemblage

A. Chest / Commode x 1 B  Leg / Patte x 4

Hardware Kit Packed in BoxHa
Quincaillerie incluse dans la boîte 

Description Qty / QtéNo Image

1

2

3

4

x 8

x 8

x 8

x 1

x 1

Allen Key (M4) 
Clé Allen (M4)

Flat Washer (5/16”) 
Rondelle plate (5/16 po)

Lock Washer (5/16”) 
Rondelle d’arrêt (5/16 po)

Allen Bolt (5/16” x 2”) 
Boulon Allen (5/16 po x 2po)

Tipping Restraint 
Trousse anti-basculement 

Not Provided
Non fourni

Hewitt Chest Fully Assembled 
Commonde Hewitt assemblée

5



X8

4
1

2

3

B

X8

Hewitt Chest
Commode Hewitt 
Assembly Instructions / Instructions    d’assemblage

Step 1: 
Étape 1 :

Step 2: 
Étape 2 :

Assembly Complete 
Assemblage complété

H
A

R
D

W
A

R
E

 / 
Q

U
IN

C
A

IL
LE

R
IE

LEG BOX
BOÎTE CONTENANT 
LES PATTES 

RED STRAP SHOWS 
HARDWARE LOCATION

LA BANDE ROUGE MONTRE 
L’EMPLACEMENT DE LA 

QUINCAILLERIE. 


	Ai - Hewitt Model (1)
	Ai - Hewitt Model (1)

